

$$g(u) = f(u), \quad g'(u) = f'(u) u'$$

$$\Rightarrow f'(\sin u + \sqrt{r} \cos u) \left(\underbrace{\sin u}_{1} (1 - \tan^2 u) - \underbrace{\sqrt{r}}_{-1} \tan u \right) = f'(r) = \sqrt{r}$$

$$f'(r) = \sqrt{r}$$

~~$$f'(x) = \frac{2\sqrt{x} \ln(x - \sqrt{x}) - (1 + \sqrt{x})}{(x - \sqrt{x})^2}$$~~

$$f'(x) = \frac{-2\sqrt{x} \ln(x - \sqrt{x}) + (1 + \sqrt{x}) \left(\frac{1}{x - \sqrt{x}} \right)}{(x - \sqrt{x})^2} = f'\left(\frac{1}{4}\right) = \frac{\frac{1}{2}}{\frac{1}{4}}$$

$$-2 \times \frac{1}{2} \times \frac{1}{4} + \left(\frac{1}{2} + 1 \right) \times \frac{1}{4}$$

as $\frac{r}{f} \rightarrow \frac{2\sqrt{a}}{f}$ $u > \frac{r}{f}$ $(f u - r) \sqrt{a u} \rightarrow f' = f \sqrt{a u} + (f u - r) \frac{a}{\sqrt{a u}} =$

as $\frac{r}{f} \rightarrow \frac{2\sqrt{a}}{f}$ $u < \frac{r}{f}$ $(f u + r) \sqrt{a u} \rightarrow f' = -f \sqrt{a u}$

$f' = -2\sqrt{r a}$

$$|2\sqrt{a} + 2\sqrt{a}| = 4\sqrt{a} = 4\sqrt{4} = 8 \Rightarrow \left(8 \times \frac{1}{f} \right)$$

$$y = r - a u \Rightarrow f(x) = r - f a \quad f'(x) = -a \quad f'(x) = \frac{r}{a}$$

$$f + f'(x) = r - a a s - 1 s) a = \frac{r}{a}$$

$$y' = \frac{a + r}{(r u + 1)^2} = \frac{1}{v}$$

$$\frac{a u - 1}{r u + 1} = \frac{u + a}{v} \Rightarrow v a u - v s r u^2 + 1 f a + a s) r a u^2 + (1 - v a)$$

$$f(s) \rightarrow 1 + ra - bs \rightarrow ra - bs - 1$$

$$f'(s) \rightarrow ras + a s \rightarrow as - 1r \rightarrow bs - 1r$$

$$-1r + 1r s \boxed{-f}$$

6

$$\lim_{n \rightarrow \infty} \frac{f(n)f'(n)}{(1-cn)^m} \rightarrow \frac{n \lim_{n \rightarrow \infty} (n^m) \lim_{n \rightarrow \infty} (n^m)}{(1-cn)^m}$$

7

8

9

10